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IMPORTANT INSTRUCTIONS
(i) The question paper is in the form of Test-Booklet containing 91 (Ninty One) questions. All questions

are compulsory. Question number 1 to 40 and 62 to 91 are MCQs. Where question number 41 to 61

are to be attempted on the answer sheet provided seperately.

(ii) On receipt of the Test-Booklet (Question Paper), the candidate should immediately check it and

ensure that it contains all the pages, i.e., 91 questions (61 in Part-A + 30 in Part–B). Discrepancy,

if any, should be reported by the candidate to the invigilator immediately after receiving the

Test-Booklet.

(iii) A separate Answer-Sheet is provided with the Test-Booklet/Question Paper. On this sheet there are

70 rows (40 in Part-A + 30 in Part–B) containing four circles each. One row pertains to one question.

(iv) The candidate should write his/her Application number at the places provided on the cover page of

the Test-Booklet/Question Paper and on the Answer-Sheet and NOWHERE ELSE.

(v) No second Test-Booklet/Question Paper and Answer-Sheet will be given to a candidate. The candidates

are advised to be careful in handling it and writing the answer on the Answer-Sheet.

(vi) For every correct answer of the question One (1) mark will be awarded. For every unattempted

question, Zero (0) mark shall be awarded. There is no Negative Marking.

(vii) Marking shall be done only on the basis of answers responded on the Answer-Sheet.

(viii) To mark the answer on the Answer-Sheet, candidate should darken the appropriate circle in the row

of each question with Blue or Black pen.

(ix) For each question only one circle should be darkened as a mark of the answer adopted by the

candidate. If more than one circle for the question are found darkened or with one black circle any

other circle carries any mark, the question will be treated as cancelled.

(x) The candidates should not remove any paper from the Test-Booklet/Question Paper. Attempting to

remove any paper shall be liable to be punished for use of unfair means.

(xi) Rough work may be done on the blank space provided in the Test-Booklet/Question Paper only.

(xii) Mobile phones (even in Switch-off mode) and such other communication/programmable devices are

not allowed inside the examination hall.

(xiii) No candidate shall be permitted to leave the examination hall before the expiry of the time.
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PART – B

62. Apple Pie Order is .........

(A) Related to dry fruit packing

(B) In perfect order

(C) Related to fruits packing

(D) In random order

63. If 6th March, 2005 is Monday, what was

the day of the week on 6th March, 2004?

(A) Saturday

(B) Tuesday

(C) Wednesday

(D) Sunday

64. Guddi was standing on a road near a mall.

She was 1000 m away from the mall and

able to see the top of the mall from the road

in such a way that top of the tree, which is

in between her and the mall, was exactly in

line of sight with the top of the mall. The

tree height is 10 m and it is 20 m away

from Guddi. How tall is the mall?

(A) 450 m

(B) 470 m

(C) 423.5 m

(D) 495 m

65. What will be angle between the two hands

of a clock at 10.25 pm?

(A) 120°

(B) 162.5°

(C) 146.5°

(D) 126.45°

66. An ore contains 25% of an alloy that has

90% iron. Other than this, in the remaining

75% of the ore, there is no iron. How many

kilograms of the ore are needed to obtain

60 kg of pure iron?

(A) 250 kg

(B) 266.66 kg

(C) 200 kg

(D) 375 kg

67. Dean has a cardboard box whose length,

breadth and height are in the ratio 1:2:3. He

makes a new box such that the length,

breadth and height got increased by 100%,

200% and 200% respectively. How much

less is volume of old box than the new box

(A) 16 times less

(B) 17 times less

(C) 12  times less

(D) 24  times less
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68. The velocity of a boat in still water is

9 km/hr, and the speed of the stream is

2.5 km/hr. How much time will the boat

take to go 9.1 km against the stream?

(A) 2 hr. 40 min

(B) 1 hr. 20 min

(C) 2 hr. 48 min

(D) 1 hr. 24 min

69. Length of train is 170 meters and speed of

train is 63 km/hour. This train can pass a

bridge in 30 seconds, then find the length

of the bridge

(A) 355 mts

(B) 325 mts

(C) 365 mts

(D) 312 mts

70. A dishonest dealer marks up the price of

his goods by 20% and gives a discount of

10% to the customer. He also uses a

900 gram weight instead of a 1 kilogram

weight. Find his percentage profit due to

these maneuvers?

(A) 20%

(B) 12%

(C) 6%

(D) 18%

71. Ajit has a certain average for 9 innings. In

the tenth innings, he scores 100 runs thereby

increasing his average by 8 runs. His new

average is

(A) 20

(B) 21

(C) 32

(D) 28

72. Rs. 8,400 is divided among A, B, C and D

in such a way that the shares of A and B,

B and C, and C and D are in the ratios

of 2:3, 4:5 and 6:7 respectively. The share

of A is

(A) Rs. 8,400

(B) Rs. 1,320

(C) Rs. 8,210

(D) Rs. 1,280

73. Two cars start together in the same direction

from the same place. The first goes with

uniform speed of 10 kmph. The second goes

at a speed of 8 kmph in the first hour and

increases its speed by 1/2 kmph each

succeeding hours. After how many hours

will the second car overtake the first, if both

cars go non stop?

(A) 9

(B) 6

(C) 7

(D) 8
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74. Six bells commence tolling together and toll

at intervals of 2, 4, 6, 8, 10 and 12 seconds

respectively. In 30 minutes, how many times

do they toll together?

(A) 4

(B) 15

(C) 10

(D) 16

75. The sum of ages of 5 children born at the

intervals of 3 years each is 50 years. What

is the age of the youngest child?

(A) 8 years

(B) 4 years

(C) 10 years

(D) None of these

76. A rectangular lawn 55 m by 35 m has two

roads each 4 m wide running in the middle

of it, one parallel to length and the other

parallel to breadth. The cost of gravelling

the roads at 75 paise per sq. metre is:

(A) Rs. 257.50

(B) Rs. 275

(C) Rs. 262.50

(D) Rs. 258

77. If Rs. 3,250 be divided among Ram, Shyam

and Mohan in the ratio of 1/2:1/3:1/4 then

the share of each are?

(A) Ram = Rs.1500, Shyam = Rs.1000,

Mohan = Rs.750

(B) Ram = Rs.1200, Shyam = Rs.1300,

Mohan = Rs.750

(C) Ram = Rs.2500, Shyam = Rs.500,

Mohan = Rs.250

(D) None of the above.

78. Find the number of ways of arranging the

letters of the words DANGER, so that no

vowel occupies odd place.

(A) 36

(B) 48

(C) 144

(D) 96

79. The 2022 Women's Hockey Asia Cup will

be held in which country?

(A) Thailand

(B) Oman

(C) India

(D) Myanmar

80. Which movie has won the Golden Peacock

Award at the International Film Festival of

India (IFFI), in Goa in November 2021?

(A) Asuran

(B) Ana

(C) The Sun above Me Never Sets

(D) Ring Wandering
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81. Google Pay has tied up with which

General Insurance Company to offer

Health Insurance?

(A) Bharti AXA General Insurance

(B) SBI General Insurance Company

(C) Religare Insurance Company

(D) Oriental Insurance Company

82. What is the scheme that has been started by

the Ministry of Civil Aviation to help the

farmers?

(A) Farmers 2.0 scheme

(B) Udan S2021

(C) Krishi Udan 2.0 scheme

(D) None of the above

83. Which of the following agriculture

University of India has developed

new varieties of oats, wheat, rice, and

niger crop?

(A) Dr. Rajendra Prasad Central

Agricultural University

(B) Jawaharlal Nehru Krishi

Vishwavidyalaya (JNKVV)

(C) Rani Lakshmi Bai Central Agricultural

University

(D) G.B. Pant University of Agriculture

84.  Which country has more than one official

capital?

(A) Egypt

(B) United Kingdom

(C) Switzerland

(D) South Africa

85. With how many states does the boundary of

Haryana touch?

(A) 4

(B) 5

(C) 6

(D) 7

86. Where has the National Research Institute

in Haryana been established?

(A) At Sirsa

(B) At Kurushetra

(C) At Karnal

(D) At Jind

87. The turban, worn by males in Haryana is

known as-

(A) Toda

(B) Muretha

(C) Paggar

(D) Khandwa



14

88. When was the State of Haryana formed?

(A) 1st Nov., 1966

(B) 10th Dec., 1966

(C) 2nd Jan., 1967

(D) 4th March, 1967

89. The difference between the ages of two

person is 10 years the elder one was twice

as old as younger when the present age of

the elder person is

(A) 25 years

(B) 35 years

(C) 45 years

(D) 55 years

90. A works twice as fast as B. If B can

complete the work in 12 days independently,

then  the number of days in which A and B

can together finish the work is-

(A) 4 days

(B) 6 days

(C) 8 days

(D) 18 days

91. Approximately in how many years, the

money invested at 6% per annum will

become three times of original value, if the

compounding is annual?

(A) 12 years

(B) 18 years

(C) 15 years

(D) 19 years
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Sr. no.  Answer Sr. no.  Answer Sr. no.  Answer Sr. no.  Answer 
1 A 19 D 37 D 76 D 
2 B 20 C 38 B 77 A 
3 A 21 B 39 A 78 C 
4 D 22 C 40 A 79 B 
5 B 23 C 62 B 80 D 
6 A 24 A 63 D 81 B 
7 D 25 D 64 B 82 C 
8 B 26 A 65 B 83 B 
9 C 27 D 66 B 84 D 
10 B 28 B 67 B 85 A 
11 C 29 D 68 D 86 C 
12 A 30 C 69 A 87 D 
13 C 31 D 70 A 88 A 
14 A 32 A 71 D 89 B 
15 C 33 D 72 D 90 A 
16 B 34 D 73 A 91 D 
17 D 35 D 74 D   
18 A 36 C 75 B   
 


